
Algebra - quadratics
Solving with rearranging





Can you still….

5x + 2y = 19

2x + 2y = 10

X=              y=



3y + 𝑥 = 7

2y - 𝑥 = 8

Linear Simultaneous Equations

1

2

12 +

5y = 15

Substitute y into equation 1

3 × 3 + 𝑥 = 7

y = 15 ÷ 5 y = 3 

9 + 𝑥 = 7

𝑥 = 7 - 9𝑥 = -2

SSS
“If the Signs are the Same, you Subtract“

So what should we do here?



3x + y = 19

x - y = 1

… (1)

… (2)

Number
the Equations

4x = 20
Add

(to get rid of a 
letter)

Divide
(to find x)

x = 5

Substitute
in (2)

(to find y)

1 x 5 - y = 1

5 - y = 1

y = 4



7x + 2y = 32

3x - 2y = 8

… (1)

… (2)

Number
the Equations

10x = 40
Add

(to get rid of a 
letter)

Divide
(to find x)

x = 4

Substitute
in (2)

(to find y)

3 x 4 - 2y = 8

12 - 2y = 8

y = 2

2y = 4



7x + y = 43

3x + y = 23

… (1)

… (2)

Number
the Equations

4x = 20
Subtract (to get rid 

of a letter)

Divide
(to find x)

x = 5

Substitute
in (2)

(to find y)

3 x 5 + y = 23

15 + y = 23

y = 8



9x + 4y = 82

3x - 4y = -10

… (1)

… (2)

Number
the Equations

12x = 72
Add

(to get rid of a 
letter)

Divide
(to find x)

x = 6

Substitute
in (2)

(to find y)

3 x 6 - 4y = -10

18 - 4y = -10

y = 7

4y = 28



Simultaneous Questions!
Calculate the answers to each pair of simultaneous equations, choosing your starting 

point depending on how confident you feel. 

Super Stretching Stellar

1.

2.

3.

4.

5.

6.

7.

8.

9.

Extension: Can you work out what you might need to do to solve these?

3x + y = 28

2x + y = 20

x + 4y = 13

x + 3y = 10

y + x = 7

y - x = 3 

4x + y = 21

2x + y = 11 

2x + 5y = 43

2x + 2y = 22

6y + 3x = 12

2y - 3x = 12

4x + 2y = -8

x + 2y = 1 

8x + 6y = -29

5x - 6y = -23 

3y - 5x = -1

7y - 5x = -5 

5x + 2y = 

19

4x + y = 14



Traffic light your work today.

Thumbs down- I don’t understand it

Thumbs across- I understand some of it

Thumbs up- I understand all of it



A further task will be on the website for you to 
complete later today – one merit for all who do 



